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THAT'S THE POINT! AAAGGH!! 'foﬁ
YOU NEVER RUN JUST DON'T GET
ouT!! i

BUT WHAT ABOUT
IF YOU RUN OUT?
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2. Berry’s paradox gets its name from G. G.
Berry, an Oxford University librarian who
communicated it to Russell. It concerns “the
smallest integer that cannot be expressed in less
than thirteen words.” Since this expression has 12
words, to which set does the integer it describes
belong: the set of integers that can be expressed in
English with less than 13 words, or the set of
integers that can be expressed only with 13 words
or more? Either answer leads to a contradiction.

3. The philosopher Max Black expressed the
Berry paradox in a fashion similar to the following
version: Various integers are mentioned in this
book. Fix your attention on the smallest integer
that is not referred to in any way in the book. Is
there such an integer?
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